Arithmetic ~ Monday

1. 176 - 8 = 10. 457 + 10 =

2. 7/9-5/9 = 11. 53.90 - 8.45 =

3. 38 x0= 12.9/10 - 4/10 =

4, = 8746 + 577 13.504 x 6 =

5. 209 x 4 = 14,3852 - 4 =

6. 8.1+0.01= 15. 5+ % =

7. 7231 - 487 = 16. % x 3 =

8. 9822 - 7457 = 17.9.11 x 3 =

9. 8100 + 900 = 18. 50% of 595 =
Arithmetic ~ Tuesday

1. 3391+10 = 10. 6 x 600 =

2. 713 - 50 = 11. 5680 = 4 =

3. 5/12 +11/12 = 12.18 - (4 x 3) =

4, = 3887 - 489 13.279 x5 =

5. 5600 + 70 = 14, 4008 + 8 =

6. 409+34-= 15. &+ % =

7. 84,000 + 451 = 16. % x 2 =

8. %x2-= 17. 506 + 100 =

9. 10% - 2% = 18. 20% of 460 =




Arithmetic ~ Wednesday

1. 24 x4 = 10. 7.02 x 100 =

2. 5/12 -3/12 = 11.27.80-9.03 =

3. 5379 + 753 = 12. 2+ 2=

4, 56 +1-= 13.619 x 3 =

5. 77 x 7 = 14,7712 - 8 =

6. 0.021+39= 15.2 x % =

7. 8302 + 699 = 16.0.25 x 4 =

8. 9,402 - 5,892 = 17.215x 7 =

9. 490 +7 = 18. 25% of 100 =
Arithmetic ~ Thursday

1. 1399+10 = 10.90 x 12 =

2. 487 - 200 = 11. 2875 -5 =

3. 9/10+ 3/10 = 12.11-(18 = 3) =

4. 5583 - 674 = 13.88 x 9 =

5. 700 x 70 = 14,828 + 9 =

6. 53+2.69= 15. §-%=

7. 5800 -7 = 16.% x 2 =

8. 3% x4-= 17. 3892 + 1000 =

9. 5% -4%2 = 18. 20% of 672 =




ANSWERS

Arithmetic ~ Monday

1. 176 + 8 = 22 10. 457 - 10 = 45.7

2. 7/9-5/9=2/9 11. 53.90 - 8.45 = 45.45

3.38x0=0 12.9/10 - 4/10 = 5/10

4, 9323 =8746 + 577 13.504 x 6 = 3024

5. 209 x 4 =836 14. 3852 + 4 = 963

6. 8.1+0.01=28.11 15, 5+%=1

7. 7231 - 487 = 6744 16. % x 3=3/5

8. 9822 - 7457 = 2365 17.911 x 3= 27.33

9. 8100 +900=9 18. 50% of 594 = 297
Arithmetic ~ Tuesday

1. 3391+ 10 = 3401 10. 6 x 600 = 3600

2. 713 -50 =663 11. 5680 = 4 = 1420

3. 5/12 +5/12 = 10/12 12.18-(4x3)=6

4. 3398 = 3887 - 489 13.279 x5 =1395

5. 5600 + 70 = 80 14. 4008 + 8 = 501

6. 409 +3.4=749 15. £ +%=12/8 or 13

7. 84,000 + 451=84451 |16.%x2=4/3 or 1%

8. %x2=4/3or 1% 17.506 =100 = 5.06

9. 102 -22 =96 18. 20% of 440 = 88




Arithmetic ~ Wednesday

1. 24 x4 =96 10. 7.02 x 100 = 702

2. 5/12-3/12=2/12 11.27.80-9.03 = 18.77

3. 5379 + 753 = 6132 12. 3 +2=6/40r 13

4. 56 -1=56 13. 619 x 3 = 1857

5. 77 x 7 =539 14,7712 - 8 = 964

6. 0.21+3.7=3091 15.2 x%=10/8 0r12/8

7. 8302 + 699 = 9001 16.025x4:=1

8. 9402 - 5892 = 3510 17.2.15x 7 = 15.05

9.490+7=70 18. 25% of 100 = 25
Arithmetic ~ Thursday

1. 1399 + 10 = 1409 10. 90 x 12 = 1080

2. 487 - 200 = 287 11. 2875 +5 =575

3. 9/10+ 3/10=12/10 12.11-(18 - 3)=5

4. 5583 - 674 = 4909 13.88 x 9 =792

5. 700 x 70 = 49,000 14,828 + 9 =92

6. 5.3+2.69=7.99 15.§-2=2/8

7. 5800 -7 =5793 16. % x 2 = 8/5 or 1%

8. 3%x4=-14 17. 3892 + 1000 = 3.892

9. 5%2-42:=9 18. 20% of 630 = 126




